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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 a 1510 0.8 0.4 1 79.7 99.1
1 b 1520 2.6 1.4 6 43 99.7
1 c 1510 2.5 1.4 5 50.6 99.1
1 d 1487 3.7 2 8 46.8 97.6
2 a 1512 4.5 1.7 8 56.3 99.2
2 b 1508 1.3 0.9 3 44.4 99
3 a 1516 2.8 1.2 5 55.7 99.5
3 b 1511 4.8 1.7 10 48.1 99.2
4 a 1520 1.1 0.7 2 54.3 99.7
4 b 1502 2.1 1.3 3 69.9 98.6
4 c 1514 4.6 2.1 8 57 99.3
5 a 1514 1 0.8 2 52.1 99.3
5 b 1500 2 1.3 5 39.5 98.4
5 c 1447 1.8 1.2 4 44.1 95
6 1494 4.6 2.1 10 45.6 98
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A Level Business Unit 3

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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(b) Explain how the data in the graph could be used to aid the future planning of the
Seaways Hotel chain. (6] 
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(c) Describe the factors that could influence the reliability of the sales forecast for the


Seaways Hotel chain for July 2022. (5] 
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(b) Explain how the data in the graph could be used to aid the future planning of the
Seaways Hotel chain. [6) 
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1 (b) Explain how the data in the graph could be used to aid the future planning of the 
Seaways Hotel chain. [6] 


Band 
AO2 AO3 


4 marks 2 marks 


3 


4 marks 
Excellent application to the Seaways Hotel 
chain. 


The candidate makes direct and clear 
reference to the data to explain how it could 
aid the future planning of the Seaways 
Hotel chain. 


2 


2 -3 marks 
Good application to Seaways Hotel chain. 


The candidate makes some reference to the 
data to explain how it could aid the future 
planning of the Seaways Hotel chain. 


2 marks 
Good analysis of how the data shown 
could aid the future planning of the 
Seaways Hotel chain. 


The analysis is detailed. 


1 


1 mark 
Limited application to Seaways Hotel chain. 


The candidate response is mainly 
theoretical with some reference to how the 
data could aid the future planning of the 
Seaways Hotel chain. 


1 mark 
Limited analysis of how the data shown 
could aid the future planning of the 
Seaways Hotel chain. 


The analysis may be limited. 


0 0 marks 
No application. 


0 marks 
No analysis. 


Indicative content: 


• The data could be used to plan the stock holding of goods such as food for the meal
options. By forecasting the number of guests visiting the hotels the managers can order
sufficient levels of stock to ensure that there is limited waste which saves the business
money. However, it is also important to order enough stock to cater for the demand of
the guests otherwise they could gain poor reviews on hotel review sites.


• The data will also allow the management to arrange for suitable entertainment by
identifying the likely periods to be busier.


• The management could also plan the workforce to ensure that there are suitable levels
of staff to cater for the needs of the guests. Again, if this is not planned correctly the
business could either waste resources or may not be able to provide the level of service
required to satisfy customers.


• The management will also use the data to create a marketing plan. For example, during
periods that are quieter they could create a promotional campaign to attract customers or
put a package together that may attract a certain market segment e.g. older customers
during the quieter months of November and December with entertainment options.


• Can be used to budget e.g. to create a revenue budget and a cost budget by using the
forecasted sales and predicted costings.


Credit any other valid point. 
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Sticky Note

There is reference to 'advertising more in July and during the Elvis festival'  but this is not relevant because these are the busy months and there is no reference to the future.  There is no link to extrapolating the data to support the hotel chain in the future.

This response achieves 0 marks because there was no relevant application or analysis.
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(b) Explain how the data in the graph could be used to aid the future planning of the
Seaways Hotel chain. (6] 
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Sticky Note

This sentence shows the first valid analysis point - the graph allows the hotel chain to manage its workforce to cater for seasonality.  This is also applied knowledge because its within the context of the hotel industry and where most hotels are located, which will be affected by seasonality.  Therefore, in this one sentence, AO2 and AO3 marks are awarded.





Sticky Note

Applied knowledge with reference to the data in the graph as well as the types of workers required within a hotel (More cleaners).  The response enters band 2 for AO2.





Sticky Note

More application of knowledge with a link to chefs within the hotel and the purchasing of food supplies to cater for different levels of demand.  There is also analysis to show chains of reasoning with the development about avoiding wastage and therefore saving the hotel money.  This well developed point is further evidence of AO2 and AO3.





Sticky Note

Overall, with two developed points and application to both the data in the graph and the context of the hotel industry, this response was awarded the full 6 marks, with 4 AO2 and 2 A03.
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(b) Explain how the data in the graph could be used to aid the future planning of the
Seaways Hotel chain. [6) 
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Sticky Note

The is a valid example of how the data in the graph could be used by the hotel chain to aid future planning. This is clearly applied with reference to stock but it is limited because stock is required for all businesses.  Therefore, the response accesses band 1 for AO2 with this sentence.





Sticky Note

This is a chain of argument that provides some reasoning to develop the point about ordering stock.  It is a valid argument to suggest that the hotel will save money by avoiding waste.  Therefore, there is AO3 within this response.





Sticky Note

This is a valid point about planning events to attract guests but the response is vague and could benefit from more development and chains of argument.  





Sticky Note

Another relevant point but it lacks application to the hotel industry.  

Overall, this response achieved 3 marks, with 2 AO2 marks and 1 AO3 - The main strand of analysis came from the point linked to reducing waste and therefore saving money.
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Examiner


only(b) Explain how the data in the graph could be used to aid the future planning of the
Seaways Hotel chain. [6]


(c) Describe the factors that could influence the reliability of the sales forecast for the
Seaways Hotel chain for July 2022. [5]
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Q.  Total 
5 (a) With the use of an example, outline what is meant by the term ‘current 


liability’. 
 
AO1: 2 marks 
 
Award 1 mark for the correct definition  
 
Debts that are normally paid within a year / money owed that needs to be paid 
back within a year. 
 
Award 1 mark for an example 
 
Indicative content:  
 
Trade Creditors (Creditors) / Payment to Suppliers  
Short Term loans 
Overdraft Payment / Credit Card Payments 
 


2 


5 (b) Assess the current ratio of Sheds for Wales Ltd between 2021 and 2020. 
 
AO1: 2 marks 
AO2: 1 mark 
AO4: 2 marks 
 
Award 2 marks for knowledge of current ratios  
Award 1 mark for application to Shed for Wales Ltd  
Award 2 marks for evaluating the ratios  
 
Indicative content:  
 
AO1 - The current ratio is a measure of the liquidity of a business – it shows 
whether or not a business has sufficient levels of working capital to pay day-to-
day expenses - the ideal ratio for the current/working capital ratio is usually 
given as 1.5 – 2.0 
 
AO2 - Sheds For Wales Ltd is just below the recommended level in 2020 
and/or within the ideal range in 2021. 
 
Reference to issues from the case study e.g. struggling to pay suppliers on 
time so a good current ratio will reassure suppliers and foster good 
relationships between the business and suppliers. 
 
AO4 - The 2020 ratio would be a problem in relation to paying day-to-day 
expenses - with suppliers already concerned about payment, this could prevent 
suppliers offering trade credit in the future. 
 
It is likely then that the company would consider the ratios to be satisfactory 
since it has sufficient working capital to meet its requirements in 2021 - this 
may alleviate the concerns of suppliers allowing the trade credit to continue. 
 
However, kept from sale of assets to improve liquidity – so may not be good. 
 
Whether or not the current ratio is good depends on industry averages. 


5 
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Sticky Note

There is an attempt to state what the current ratio measures in order to achieve 1 AO1 mark.  However, this statement is not entirely accurate because it does not refer to short-term debt.  Therefore, no AO1 mark was awarded.





Sticky Note

There is a valid point in this statement with reference to the business having extra funds available because they now have £1.85 per £1.00 of debt.  However, the key point is when reference is made to the recommended ratio of 2.5:1.  This is incorrect and therefore no AO1 mark was awarded.  In addition, the data was not used accurately because the current ratio is not good in comparison to the recommended ratio of 2.5:1 - no AO2 mark could be awarded. 

Overall, this response achieved 0 marks - there were inaccuracies in knowledge, no application and no evaluation.














5


5



Sticky Note

This first sentence allows the candidate to achieve 1 AO1 mark for accurately stating the ideal current ratio of 1.5:1 - 2:1.





Sticky Note

Knowledge illustrated in the response with reference to what the current ratio shows - levels of capital to pay day-to-day expenses.  This allows the candidate to gain the additional AO1 mark available in the mark scheme.





Sticky Note

Application of knowledge is evident with reference to the data and the fact that the current ratio has improved and how it may have improved - the 1 AO2 mark was awarded here.





Sticky Note

This last sentence demonstrates evaluation with clear judgements made in terms of suggesting that the current ratio is 'within the ideal range and will ensure that the business can meet obligations as well as ensure suppliers do not cancel agreement'.  This allowed the candidate to achieve the 2 marks





Sticky Note

This response achieved the full 5 marks available due to two strands of knowledge, application to the data and reference to the case study as well as clear judgements about the importance of achieving the ideal current ratio.














1



Sticky Note

This statement is inaccurate because a ratio of 1.2:1 is not good.  The ideal current ratio is 1.5:1 - 2:1.  Therefore, no marks were awarded here.





Sticky Note

This is also an incorrect statement because a current ratio of 1.85:1 is within the ideal range and is therefore good.





Sticky Note

A mark was awarded here for knowledge in terms of the candidate knowing that a good current ratio may be needed to borrow money - 1 AO1 mark was awarded.

In total, this response achieved 1 of the 5 marks available.
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only
(b) Assess the current ratio of Sheds for Wales Ltd between 2021 and 2020. [5]


(c)	 With reference to the data, describe how and why window-dressing has been used by 
Sheds for Wales Ltd. [4]
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6. To what extent do you agree that access to markets is the most important 
factor affecting the relocation of Pendragon Furnishing Ltd.  [10] 


Band 
AO1 AO2 AO3 AO4 


2 marks 2 marks 2 marks  4 marks 


3 


   4 marks 
Excellent 
evaluation of the 
factors that affect 
the relocation of a 
furniture factory. 
 
The evaluation 
includes a wide 
range of relevant 
factors affecting 
relocation. 
 
Judgements are 
made to support 
the evaluation. 


2 


2 marks 
Good 
understanding of 
the factors that 
affect the 
relocation of a 
furniture factory. 


2 marks 
Good application of 
the factors that 
affect the 
relocation of a 
furniture factory. 
 
The candidate 
makes use of the 
data throughout the 
answer.  


2 marks 
Good analysis of 
the factors that 
affect the 
relocation of a 
furniture factory.  
 
The analysis is 
balanced, detailed 
and developed.  


2-3 marks 
Good evaluation of 
the factors that 
affect the 
relocation of a 
furniture factory. 
 
The evaluation will 
include a range of 
relevant factors 
affecting relocation.  
 
Partial judgements 
are made, with 
some attempt to 
support the 
evaluation.  


1 


1 mark 
Limited 
understanding of 
the factors that 
affect the 
relocation of a 
furniture factory. 


1 mark 
Limited application 
of the factors that 
affect the 
relocation of a 
furniture factory. 
 
The response is 
mainly theoretical 
with brief reference 
to the data.  


1 mark 
Limited analysis of 
the factors that 
affect the 
relocation of a 
furniture factory. 
 
Superficial 
discussion.  


1 mark 
Limited evaluation 
of the factors that 
affect the 
relocation of a 
furniture factory. 
 
Unsupported 
judgement. 


0 0 marks 
No understanding. 


0 marks 
No application. 


0 marks 
No analysis. 


0 marks 
No evaluation. 
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Indicative content: 
 
Arguments to agree: 
For some businesses it is the availability of, and access to, markets that is the prime 
consideration that determines the location of the business. However, this is most obvious for 
retailers of consumer goods, who need to be near their customers. Nevertheless: 
• Manufacturers in many industries need to be located close to the users of their products. 


This is particularly important for Pendragon Furniture Ltd when using JIT. If they are to 
distribute their goods efficiently, then being close to the retail customers is essential. 
However, it is also essential because they are producing bulky items and distribution 
costs will be lower if they are located close to the main retail customers. 


• Type and quality of infrastructure also affect access to markets. Infrastructure used to 
mean roads, rail, and shipping but a more modern definition includes electronic 
communication systems, training agencies, financial services as well as the traditional 
components. The current location will benefit from excellent training services, financial 
services and communication services because it is based in the City Centre. However, 
locating on the outskirts of Cardiff or closer to the M4 Corridor would improve the speed 
of delivery of supplies and finished goods to retail customers as well as reducing costs. 


 
Arguments to disagree: 
For bulk-increasing manufacturers such as Pendragon furniture Ltd, other factors may be far 
more important: 
• Cost and nature of factors of production is vital. Pendragon require a wide variety of 


small raw materials and components, therefore locating close to the source of these raw 
materials can substantially reduce costs. In conjunction with this, using JIT will require 
quick deliveries therefore it is important to consider locating near suppliers. 


• As a factor of production, ‘labour’ can be a deciding factor in determining location. This 
includes the cost, availability and skills of labour.  
- The cost of labour is also a determining factor. The cost of labour can be higher in 


City Centre locations due to the high cost of living. Therefore, it may be better off 
locating on the outskirts of the City.  


- The availability of low cost and suitable land resources can also be an important 
factor when determining location. National governments, along with regional 
development agencies, often work hard to ensure that planning permission is 
available to allow large developments to proceed and they also offer incentives such 
as tax breaks and help with recruitment and training of workers. If this is available in 
Wales, then relocating will not be too expensive. 


- Pendragon Furniture Ltd needs skilled sewing machinists and upholsterers therefore 
the company may find it easier to attract skilled labour if they located close to other 
manufacturers or training centres.   


• Many UK manufacturing businesses have relocated to the where labour costs are very 
low. This may be something that the Directors of Pendragon Ltd needs to consider to 
remain competitive in a very competitive market. 


 
To conclude, for Pendragon furniture Ltd access to markets is very important because they 
not only distribute large finished goods but they also depend on supplier’s to be able to 
deliver quickly. If these deliveries are not received then production could stop leading to 
retailers receiving orders late. Other factors are important but as they are only moving to the 
outskirts of Cardiff it is likely that skilled staff will move with them. 
 
(Some candidates may approach this by arguing that being close to customers is the most 
important factor and then evaluate the importance of other factors such as transport links, 
being close to suppliers etc.). 
 
Credit any other valid point. 
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Sticky Note

There is no relevance in this paragraph because it is set in the wrong context, with Pendragon Ltd being a retailer as opposed to a manufacturer of furniture.  Therefore, being close to customers so that measurements can be taken or for customers to view the furniture is irrelevant.  

No marks were awarded here for any of the assessment objectives.





Sticky Note

The first point in this sentence is accurate but unfortunately, there is no reference to a valid factor of location that should be considered more important e.g. transport links, being close to suppliers or being close to labour.  

The response goes on to suggest that having a website is important which is not relevant to the context of the question.  Again, the candidate seems to focus on a retailer as opposed to a manufacturer.  

This point and attempted analysis could not be credited with any marks.

Overall, this response achieved 0 marks, with no valid point for AO1.














Sticky Note

This large first paragraph demonstrates knowledge, application, analysis and evaluation.  Referencing the importance of lead times due to the business being a manufacturer and then illustrating the reason why access to markets is vital in terms of potentially losing customers and sales revenue allows the candidate to achieve marks for all 4 assessment objectives.





Sticky Note

Another valid point of analysis with links to increased transportation costs due to traffic delays.  AO1 and AO3 demonstrated here.
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Sticky Note

Another large paragraph which demonstrates all the skills required to achieve higher level marks and addresses all the assessment objectives.  The candidate identifies that infrastructure is vital in terms of transport links because the manufacturer uses small components to produce large furniture, therefore being close to suppliers and transport links may be more important than being close to its customers.  There is clear links to the case study and chains of argument.  The candidate is awarded AO1, AO2, AO3 and AO4





Sticky Note

An accurate conclusion which summarises the key points.  This response achieved 9 of the 10 marks available.

The response did show good understanding of the factors that affect the relocation of a furniture factory and the data was used throughout the answer.  The analysis is balanced and each argument is developed with chains of argument/reasoning.  Therefore, 2 AO1, 2 AO2 and 2 AO3 marks were awarded.

3 marks were awarded for AO4 because the evaluation included a range of relevant factors affecting the relocation as opposed to a wide range of factors.  For example, the response focussed on being close to customers and infrastructure, it may have benefited from discussing cost in more detail such as the cost of relocating and setting up a new factory or the impact on the workforce. 














Sticky Note

There are valid points made within this paragraph.  Whilst the point is not specifically linked to factors affecting location such as transport links or access to suppliers, it is implied.  For example, the candidate has clearly suggested that if deliveries are delayed, then Pendragon Ltd will not be able to produce - this allows the response to access AO2 for applied knowledge.

In addition, the response suggests that this can negatively impact on the customers of Pendragon Ltd - this is a judgement that allows the response to access AO4 (Evaluation).









4



Sticky Note

Another chain of reasoning linked to the same point about delays due to traffic congestion - it is a valid point that customers (retailers) may stop using Pendragon Furnishings Ltd - this shows analysis and accesses AO3.





Sticky Note

Unfortunately, only one relevant point was made in relation to traffic congestion and delays causing problems for production and distribution.  This was analysed quite well but on its own it is limited to band 1 for all the assessment objectives.

Overall, this response achieved 4 of the 10 marks available with 1 AO1, 1 AO2, 1 AO3 and 1 AO4 mark.
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6.	 Pendragon Furnishings Ltd is a furniture manufacturer with a factory based on an industrial 
estate in Cardiff. The company produces three-piece suites and sofa beds for all the major 
furniture retailers in the UK. Pendragon Furnishings Ltd uses just-in-time and the production 
process involves bulk-increasing, which means that the business uses small components from 
a variety of suppliers to manufacture large pieces of furniture.


	 The location of the factory is causing complications with deliveries being delayed by traffic 
congestion and problems distributing the large final products to retailers on time. The Supply 
Chain & Logistics Director is seeking a new location for the factory and has suggested that 
access to markets is the most important factor to consider when relocating. However, the 
Finance Director and Human Resource Director argue that other factors are more important. 
Therefore, the Board of Directors are finding it difficult to make a final decision.


	 To what extent do you agree that access to markets is the most important factor affecting the 
relocation of Pendragon Furnishings Ltd?	 [10]
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